

$$\log_n^m = a \rightarrow n^a = m^*$$

$$\log_{mn}^{m^2} = b \rightarrow \log_{mn}^{m^2} = \log_{mn}^m + \log_{mn}^m = b \rightarrow \log_{mn}^m = b-1 \rightarrow \log_{n \times n}^{n^a} = b-1$$

$$\rightarrow \log_{n^{a+1}}^{n^a} = b-1 \rightarrow b-1 = \frac{a}{a+1} \rightarrow \text{از اینجاست } a > 0$$

$$[b] = 1 \leftarrow b = 1/2 \leftarrow \frac{a}{a+1} = 1/2 \rightarrow a = 1$$

الف) $\int \sqrt{\frac{x}{\log_n^m}} \rightarrow \frac{x}{\log_n^m} \geq 0 \rightarrow 0 < a < 1$ (۱)

در صورتی که $\log_n^m$ مثبت باشد و x هم مثبت باشد، حاصل جذر هم مثبت می‌باشد.

ب) $\frac{\log(x^2 - x - 2)}{\sqrt{x^2 - 1} + 1}$ $\rightarrow x^2 - 1 \geq 0 \rightarrow x \geq 1 \text{ یا } x \leq -1$ $\rightarrow \frac{1}{x^2 - 1} > 0$

$$2 \log_n^a + \log_n^m = 2 \rightarrow 2 \log_n^a + \log_n^m = 2 \rightarrow 2 \log_n^a + \frac{1}{\log_n^a} = 2$$

$$\rightarrow \log_n^a + \frac{1}{\log_n^a} = 2 \rightarrow (\log_n^a)^2 - 2 \log_n^a + 1 = 0 \rightarrow (\log_n^a - 1)^2 = 0 \rightarrow \log_n^a = 1 \rightarrow a = n$$

$$\log_2^5 = 0/10 \quad \log_2^5 = 0/12 \rightarrow \log_2^5 = 1 - \log_2^5 = 1 - 0/10 = 0/10$$

$$(\log_2^5)^{n^2} + (\log_2^5)^n - \log_2^5 = 0 \rightarrow (\log_2^5 - \log_2^5) n^2 + (\log_2^5)^n - (\log_2^5 + \log_2^5)$$

$$= 0/12 n^2 + 0/11 n - 1/1 = 0 \rightarrow n^2 + 11n - 11 = 0 \rightarrow n = 1$$

$$\rightarrow x = \frac{-11}{2} \rightarrow 1 - \left(\frac{-11}{2}\right) = \frac{13}{2}$$

$$\log_2^5 = 2/11 \quad \log_2^5 = 0/10 \rightarrow \log_2^5 = \frac{1}{2} = 2$$

$$\log_{1/2}^1 = \frac{\log_2^1}{\log_2^{1/2}} = \frac{\log_2^1}{\log_2^{1/2}} = \frac{\log_2^1 + \log_2^1}{\log_2^1 + \log_2^1} = \frac{2+1}{2/1+1} = \frac{3}{3/1} = \frac{3}{3} = 1$$

$$g_r^{\omega} = 1/\omega \quad g_r^c = 1/c \rightarrow g_r^r = \frac{1}{\frac{1}{\omega}} = \omega$$

$$g_{18}^r = \frac{g_r^r}{g_c^{\omega}} = \frac{g_r^r + g_c^r}{g_r^{\omega} + g_c^r} = \frac{\omega + 1}{\frac{1}{\omega} + 1} = \frac{\frac{\omega}{1+\omega}}{\frac{1+\omega}{1+\omega}} = \frac{\omega}{1+\omega}$$

6

$$g_{11}^{\omega} = m \rightarrow g_{11}^{\omega r} = g_{11}^{\omega} + g_{11}^r = \frac{r}{r} g_r^r + \frac{1}{r} = m \rightarrow \frac{r}{r} g_r^r = m - \frac{1}{r}$$

$$g_{12}^{\omega} = g_{12}^{\omega r} = g_{12}^r + 1 = \frac{1}{r} g_r^r + 1 = \frac{1}{r} \times \frac{r}{r} (m - \frac{1}{r}) + 1 \quad g_r^r = (m - \frac{1}{r}) \frac{r}{1}$$

$$= \frac{r}{r} m - \frac{1}{r} + 1 = \frac{r}{r} m + \frac{r-1}{r}$$

7

$$(6/5)^{2n-1} = \left(\frac{12\omega}{1}\right)^{2n-1} \rightarrow \left(\frac{r}{\omega}\right)^{2n-1} = \left(\frac{\omega^r}{r^r}\right)^{2n-1} \rightarrow \left(\frac{\omega}{r}\right)^{1-2n} = \left(\frac{\omega}{r}\right)^{2n-1}$$

$$\rightarrow r^{2n-1} = 1 - 2n \rightarrow r^{2n-1} + 2n - 1 = 0 \rightarrow n = \frac{1}{2} \checkmark$$

$$g_{11}^{(2n+1)} = g_{11}^{2n+1} = g_{11}^{r+1} = g_{11}^r = \frac{r}{r}$$

8

$$g_r^r = a \quad g_{11}^h = \frac{r}{r} (1+a) \rightarrow \frac{r}{r} (1+g_r^r) = \frac{r}{r} (g_r^r + g_r^c)$$

$$= \frac{r}{r} (g_r^r) = \frac{r}{r} g_r^r = g_{11}^h = g_{11}^r = g_{11}^c = g_{11}^h \rightarrow b = r$$

$$g_{11}^{rb-1} = g_{11}^{racb-1} = g_{11}^{\omega} = r$$

9

$$-faa^r + ba + \frac{1}{r}c = 0 \rightarrow \frac{-b}{-fa} = \frac{b}{fa} \rightarrow \frac{b}{a} = \frac{ca}{b}$$

$$\frac{fa}{b} = g_{11}^r \quad a = \frac{b+c}{r} \rightarrow ca = b+c \rightarrow b = ca - c$$

$$\hookrightarrow \frac{fa}{b} = r g_r^r \rightarrow g_r^r = \frac{fa}{b} \rightarrow g_r^r = \frac{ca}{ca-c} \rightarrow \frac{1}{g_r^r} = \frac{ca-c}{ca} \rightarrow g_r^{\frac{1}{r}} = 1 - \frac{c}{ca}$$

$$\frac{c}{ca} = 1 - g_r^{\frac{1}{r}} = g_r^r - g_r^{\frac{1}{r}} = g_r^{\frac{1}{r}} = g_r^{\frac{1}{r}} \rightarrow g_r^{\frac{1}{r}} = \frac{c}{ca} \rightarrow \frac{c}{a} = r g_r^{\frac{1}{r}} = g_r^{\frac{1}{ra}}$$

$$\left(\frac{1}{r}\right)^{\frac{c}{a}} = \left(\frac{1}{r}\right)^{g_r^{\frac{1}{ra}}} = \left(\frac{1}{r}\right)^{\frac{1}{ra}} = \left(\frac{1}{r}\right)^{\frac{1}{ra}} = \sqrt[ra]{r} = \sqrt[ra]{a}$$